
7.2  Properties of Exponential Functions      Algebra 2      THOMPSON 

       Exponential Growth: f(x) = 2x   Exponential Decay: f(x) = (½)x 

  Graph increases from left to right         Graph increases from left to right 

 

     

 

     y intercept is always 1 because a0 = 1 

 

 f(x) = -2x    reflects across x-axis   f(x) = -(½)x   reflects across x-axis 

 

    

 

           y intercept is always -1  

 

1)  

     Base is 3 and 6 is vertical stretch     

 

 

 

 

       Negative in front reflects across the x-axis 

 

 

 

 

 



 

 

 

 

2)  

 

 

 

 

 

 

 

3) 

 

 

  Decay with no reflection 

 

 

 

4) 

 

      

 Growth reflected across x-axis 

 

 



5) 

       Decay reflected across x-axis 

 

 

 

 

6) 

   in calculator: 2nd ln makes e^(-5) 

 

 

7) 

   in calculator: 2nd ln makes e^(3) 

 

 

8)           Pert  rate is decimal 

          2000e.056∙4      

   

 

 

9)           Pert  rate is decimal 

          4000e.055∙2  

 

 

 

 

 



10) 

 

             21 = 2    (1,2) 

 

         Where graph is at x = 1 

      

      Right 3 up 5 

 

 

 

 


